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SECTION-A

Note: Very Short  Answer type questions. Attempt any 
15 parts.  (15x2=30)

— —
Q.1 a) Evaluate      x -   2

         x2    x – 2

 b) Evaluate  Sin 3x

          x0   x

 c) Differentiate  x  Sin x  w. r. to  x
–1 d) Differentiate  tan  x  w. r. to  x

 e) Write product formula of differentiation.

 f) Define point of inflexion in a curve.

 1— g) Integrate  w. r. to x.7x  
2 h) Integrate the function   3x    w. r. to x

3      x +1

 i) Solve        dx     
2 2              x  + a
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 j) Solve        sin x dx

 k) State Trapezoidal Rule  of finding area 
under curve

 l) Give an example of Linear differential 
equation.

  dy
—— m) Solve the diff equation  = S in x
  dx

        
 n) Form a diff equation by eliminating 

constants from equation Y = A Cos x

 o) Write the formula of Mean for grouped data.

 p) Write the formula of Mean deviation for 
grouped data :

 q) Find Median of data 12, 17, 10, 9, 12, 7

 r) Write the formula of rank co-relation 
coefficient.

SECTION-B 

Note: Short answer type questions. Attempt any ten 
parts   10x4=40

Q.2 i) Evaluate

2 ii)  Differentiate Y = x  by First Principle 

Method.

  dy 2 3/2—— iii) Find equation ,y=(1–3x + 2x )
dx     

(2)



x
a  - 1

x 
b  - 1x 0
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2
 iv) Find  dy  ,  Y = t  + 2t + 1 and t=3x+1

          dx
—
x +  1   Prove that 2x dy + y = 2x v) If y = 

—
x                            dx

2x –2x vi) Find   d  y  ,  y = e + e

          dx

 vii) Find equation of tangent and normal to the 
2curve Y = 3x  – 4x + 7 at (1,2)

 viii) Integrate the function   2x – 4   w. r. to x by
2       x – 4x + 2

  substitution

 ix) Integrate  x  sin x  by parts method w. r. to  x

 x) Solve      dx     by partial fraction.

            x (x+1)

7 3  xi) Evaluate       sin x cos x dx.
2x –2x

 xii) Form a differential equation Y = A e +Be
——2 xiii) Solve differential equation dy =  1–y
——21–x         dx    

 xiv) Find mode of data given below

  x  :    0–10    10–20    20–30    30–40

  f   :      5            7           12           3

(3)

 xv) Find the Rank co-relation coefficient when 
Rank in maths and physics of 10 students 
are given below.

  R       7    4    5    6    1    3    2    9    10    71

  R       9    3    7    4    1    10  2    6     8     52

SECTION-C 

Note: Long answer type questions. Attempt any three 
questions.   3x10=30

y xQ.3 Find  dy  ,  x  = y

         dx

Q.4 Show that among rectangles of given area, the 
square has least perimeter.

2Q.5 Find area under the curve y = x  +1, 0 < x < 6 by 

taking six intervals using trapezoidal Rule

Q.6 Evaluate

Q.7 Find standard deviation of data given below

 x   :   0–10  10–20  20–30  30–40  40–50  50–60

 f    :     6          4         3           2          5         10
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

          

(15x2=30)
— —

Q.1 a)          x -   2

                    x2    x – 2

 b)       Sin 3x

                     x0    x

 c)  x  x  Sin x  
–1 d) xtan  x 

e) 

f) 
 1—g)  x  7x  

2h) x    3x 
3x  + 1


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i)     dx    
2 2 x  + a                   

j) sin x dx

k) 

l) 

dy
=  Sin x——m)  

 dx


n) Y = A Cos x 



o)        



p) 

 q) 12,17, 10, 9, 12, 7

r) 



  10x4=40

 i) 

2ii) Y=x 


(6)
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2 3/2iii)  dy ,  y = (1–3x + 2x ) 
—
dx  

2
iv)  dy , Y=t + 2t + 1  t=3x+1 

—


 dx 

— x + 1    2x dy+y = 2xv) y = 
—
x                    dx              

2 2x –2xvi)  d y  ,  y = e + e

2                    dx
2vii)  Y = 3x  – 4x + 7 (1, 2)



viii)   2x – 4  x 
2  x – 4x + 2

ix) xx Sin x



x)     dx    

                          x (x+1)

7 3 xi)  sin x cos x dx.

2x –2xxii) Y = A e +Be 
——2xiii) dy =  1–y ——
1–dx    

(7)

xiv) 

 x  :    0–10    10–20    20–30    30–40
  f   :      5            7           12           3

xv) 



R      7   4   5   6   1    3    2    9    10    71

  R       9    3   7    4   1   10    2    6      8     52



 3x10=30

y x  dy  ,  x  = y

           dx

 


2 y = x  +1, 0 < x < 6


 

 

 x   :   0–10  10–20  20–30  30–40  40–50  50–60
 f    :     6          4         3           2          5         10

(8) 120022/30022(17580)


0

2



82

0

6 42

0

cos

sin cos

x dx

x x dx









